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5. 다음 직육면체의 모서리의 길이의 합을 구
하여라.
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① −27 ② −5 ③ 3 ④ 5 ⑤ 27

5
√
5 + 3

√
10 − 10

√
5 + 14

√
10

= (5 − 10)
√
5 + (3 + 14)

√
10

= −5
√
5 + 17

√
10

= −5x + 17y
∴ 2a − b = 2 × (−5) − 17 = −27

해설



9. 6√
12

+
√
48 × (−

√
3)2 을 간단히 나타내면?

① 11
√
3 ② 13

√
3 ③ 15

√
3

④ −13
√
3 ⑤ −15

√
3

6√
12

+
√
48 × (−

√
3)2 =

6

2
√
3
+ 4
√
3 × (−

√
3)2

=
3√
3
+ 4
√
3 × 3

=
3
√
3

3
+ 12

√
3

=
√
3 + 12

√
3

= 13
√
3

해설



10. 다음 그림에서 사다리꼴의 넓이는?
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